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+ 27

Answer: 68

P
=

.

2. Find the

7/

)

@; of the figure.

The perimeter is I (n

(Type a whole number.)

(1) O inches.
() cubic inches.

(O square inches.

Answers 38

{1) inches.

_—  ——

f_ = __\\ e s
3. Find the Cej'rﬁe:):f the figure.

The perimeter is : {1)
{Type a whole number.)

(1) O cubic feet.
) feet.

() square feet.

Answers 24

(1) feet.
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i
4, Find th&erimetér of the figure. 3 feet
-

B ] ez A+8+C D

(A) f Rectangle Slbcl@ p: gf-(- ’5 ,76?,1-—3
pg= It +3+3

The perimeter is i i (|

(Type a whole number.)

(1) O cubic feet,
(O square feet,

O feet.
Answers 22
(1) feet.
P.alis
_— - P {2 5
5. Find the perimeter of the figure. 3 inches
e <)

(Aj viis | sasre | S

The perimeteris| 1 (1) /ﬂ 3 +3 7 #3

(Type a whaole number,)

{1) O inches.
() cubic inches,
(O square inches.

Answers 12

(1) inches.
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- ¥
6. A permanent game board is made of granite. Find the eerimetgpof the square playing board.
._—'—""-Fr i
42 11
@ ©
21
/ﬂ: A+BZ D ©

The perimeter is (| /ﬂ-: Y79l FYLr“L

= e wl r¥ L
(1) O square fest. / 7 7

) cubsic feet. /:_ /l6 1 F
O feet.
/ /6y .
Answers 168 =
(1) feet. N

—

. —

e = ———
) 77
- 41 —7/

The difference is .

Answer: 36

——

s ST
8. CSubtra_ng"

93
- 66

The differenceis| |,

Answer: 27

- ey LS

=
8, /Su/btract heck by adding.
T80
-62
The difference is :

Answer: 18

iof 38 4130/2019. 11:17 AM
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10. Round 475 o the nearegt ten. | %7 .5 — Sy s D/ 5

S :
475 rounded to the nearest ten is ] = e roe "/{ “ }/

Answer: 480 ' f =

— - e — e —

11. Round 6,564 to the nearestuﬁundred;" G S 6 <1/ =
~— L 55 6=
The number 6,564 rounded to the nearest hundred is |

Answer: 6,600

..,—-—'_."_‘_'—-—-_

——
12. Round 696 to the neareg@n.___,

696 rounded to the nearest ten is .

Answer; 700

e

13. Round 23,188 to the nearest thousand. ' Q_/
23,188 rounded to the nearest thousand is :] cL) n"'{_ For~ ""{ W

Answer: 23,000

e ——————

14. Use the d!§EIb_UlEe propg}y to rewrite each expression. 7 ( 2 ,,r.({) -
7(2+4) ssasi

revay=[ | Q"g\’f 77 D

{Type an expression. Do not simplify.)

Answer. 7¢2+7+4

@tlmta.. x 7: ¥ 6
x 6 :| %} y

15.

—

Answer: 438

e — ——— = b — 5 -
_H_-_'_'_'_'_‘—'—--.,_H__.
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9 meters @

16. - sl
Find l&e'ar}and thérim/etar"of the rectangle shown to the right.

T
A=l
The perimeter of the ractangle is : (2) /1 - (gf ) (q)

(1) O meters. 2) O meters.

(O square meters. () square meters.

() cubic meters. () cubic meters, ﬂ = A’/ 6 'ch - l)
Pz Fr7+ ¢r7
s |3+ —+9
(1) square meters. / ~
26 / = (779

{2) meters, C@

The area of the rectangle is | (1)

Answers 36

LY

Pl £ s
17. - / N
Find t@ and th@eter of the rectangle shown to the right. @
' @ 60 feet J
) Y

15 feet

[ s
/s ® X690
The area of the rectangle is{ l &) A = L V\} C) o
B = 90
The perimeter of the rectangle is () A - (é c)) ( { S’) /‘%’(—)—6
(1Y O square feet. {2) O cubic feet. ,__-_:__}_dﬂﬁ
) feet. O feet.
(O cubic feet. ) square feet. /’_ A ’74 @ ,ﬁ( __f /)
Answers 900 /.; 6()7; /S"f («)’7"/ h)
{1) square feet.
= —+60 T/S
150 == 7 r

(2) feet. /': /3 3’7’/5"

50f38 430:2019, 11:17 AM
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18. Find the followm@lipj. -’_2’____5
55+5 ;

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A, 55+5= (Simplify your answer.)
() B. The answer is undefined.

Answer: A, 55+5 -! {Simplify your answer.)

— e — . _,-_,..-r—-.,‘ re— — — B— — = ————T————

19. Find the folowing quatient - £l o
0+6 B G

Seiect the correct choice below and, if necessary, fill in the answer box to complete your choice.

(A 0+6= (Simplify your answer.) /—C—j-
(O B. The quotient is undefined.

Answer; A.0+6 -! (Simplify your answer.)

20 Dlg,de’{he following and then check by multiplying.

3Jae

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The quotient does not have a remainder. The quotient is o ;

O B. The quotient has a remainder not equal to 0. The quotient is R

(O C. The quotient is undefined.

Answer: A, The quotient does not have a remainder. The quotient is 13 |

H\ ™ — — s ——— T - "__..n—- __:'--_.T e
21. @e the following and then check by multiplying. g_ezzi/
O3 3356
32

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The quotient does not have a remainder, The quotient is 3 6
O B. The quotient has a remainder not equal to 0. The quotient is R _ 3 2’)
e "-__ .. q_
. z ( r-‘ T
(O €. The quotient is undeﬁ(?‘/ r {_:1,,-"

Answer: B. The quotient has a remainder not equal to 0. The quotient is f 44 ] R 4 ]

p—_— - - — —— e — — —

P, e

—
1of 38 4/30/2019, 11:17 AM
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22 Find the gdrage valua 5f the following list of numbers, IS F/C + 20T 2Ly—+25+7 J
20,24,24,27, 15,16 ——— G o

Z

The average value is | L '-_/_6§_€ = 6[(2¢
— )

— (Ie.

e

Answer: 21

23.  Avacant lot in the shape of a rectangle measures 100 feet by 50
feet.

a. What is the@ﬁmﬂr of the lot? @ @ 50 feet

b. What is thi'area the lot?

100 feet
a. The perimeter of the lot is (1) /ﬁ = 4’!‘ 6 'f'("fp
] p= 0 (N TV
b. The area of the lot is (2) / _ /5_0 —# U/ &2
{1} O square feet. (2) O feet. /: 2_ 09 7 /A / o
O feet. () square feet. —— 5163
(O cubic feet. () cubic feet. /ﬂ =3 ;(____s_j__)
= & 1%
Answers 300 A* - L v g ¢
(1) feet. A - Cﬂ)){/w) i,do oU
5000 e OO. =
{2) square feet. () ﬁ' = 1 0 3
—_— e —
24, There are 24 hours in a day. H@ou_rs\_‘are in 7 days?
There are hours in 7 days. :
Answer: 168 “
. _.-= .:-_:.: R

e
25. The average weekly pay for a records clerk is $680. If the clerk works 40 hours in one week, what is his or her hourly pay? |
\_“_\_ _____F_..
The hourly pay is $: an hour.

Answer: 17

—— O /’(VL—;
70f38 m
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26. Find the value of the expression.

Answer: 16

P g Z_
2 Find the éﬁe_ mo;: Ji= ] f 5
JT / = {o ’ i3

Answer: 1

m—— - - Z’é N P S _i_______
28. Simplify. /- --—-}\
fErDE

42+5-6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. <f Z

(O A, 42+5-6= (7&'2’1‘505 - _’__{:;__‘3
* - P ——— = ‘- 2-_
() B. The expression is undefined. Cf'l T 3 QO 7

7' =
Answer: A, 42+5-6= @

W - ——— ..._........___ —_ _"-M'H-‘__‘_‘_\_‘--\-
29. Simplify. (_( b D /4, 3_‘\
- [ a —
B+2<4+8 _'_._.___,_,.-r"' f (-] Z \f ’-f‘ 7 — f
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / (
e Yry < g
(O A, 8+2+4+8= (f 5 ..I—-——-

(3 B. The expression is undefined. / G - ? - 2,(7‘

Answer: A.B+2+4+8= '24 . ;l

30. Simplify. — T
e ( Verpps

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A 27+9-1= 27 Tacr “—”/ =

(0 B. The expression is undefined.

Answer: A 27+9-1=[ 2 |

M

—_—

8 of 38 4/30/2019, 11:17 AM—
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31. Simplify. ) - ),.,17) > .
6+9+4+4 &____ ﬂé __,A

https://xlitemprod.pearsoncmg.com/api/v|/print/math

/
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 5;;(
GeTtv 7= /
O A, 6+9+4+4= -t—"‘

gL Y 4
() B. The expression is undefined. s (f 7 (/, /

Answer:A.6-9+4-4=! 70

"
~
N

32. Simplify.

(4+5)+(9-3)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Fr)e(9-3)=
A, (4+5)+(8-3)=

{0 B. The expression is undefined. (7) "( 5) &
7 o 6' —
Answer: A, (4+5)+(8-3)= l 54

“‘Hq_‘—‘—-—-—._

33. Simplify.

4(7 -4)+2
22-2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ?‘( 3) o L

— s
47-4)+2 22 —L
— =
2*-2 (7 +L _
() B. The expression is undefined. E
G2
47 -4)+2 -
Answer: A _2_24); = 7 zg —
2°=-2 -

34. Simplify. 3 4 [ ' (
—( 39—(N|=
<
7 [ 3 g — '77 =
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

7 3R (=
O A. 3*-[39-(13-6)}= L) 023 . 2 [ ‘7[‘3 Zj - 7
() B. The expression is undefined. ;

3% -[39-(13-86)]

Answer: A. 3% - [39-(13-86)]= 49

—_—
9of 38
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35, Match each value to its equivalent expression, Answer choices may be used more than once or not at all.

13. 162 14. 416 15. 18" 16.42-81+3°

30 4 256 16 1

13. 162

14. 416
15. 16"

16.42-81+3°

Answer;

U

36. Find the prime factorization of the following number. Write any repeated factors usmg expanents.

. Pwmts Z} ) } f///7 .-

» b"'_"
The prime factorization of 25 is ! 57 2

Answer: g2

37. Find the prime factorization of the number 15. Write any repeated factors using expgﬁents.
ﬁ-'f'hf‘ 2‘13/(; Y ‘,/

The prime factorization is ) : L iy,

3 / S_ K / )r ~ 3 A 5"‘ ""'--\.‘

Answer; 5+ 3 5.(—/5—— OQI-{_ -3 D

38. Find the prime factorization of the following number. Write any repeated factors using exponents.

18 prv,,) ?_ 3 r 7II /3,

The prime factorization of 18 is |
7 (’7 37>
Answer: o, 32 B(

-_

10 of 38 4/30:2019, 11:17 AM
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39. In a certain year, 12 states out of 50 states in a country had primary laws prohibiting all drivers from using hand-held cell
phones while driving. These laws allow law enforcement officers to ticket a driver for using a hand-held cell phone, even if
no other traffic offense has occurred.

a) Find the ratio of states with primary hand-held cell phone laws to the total number of states. 2 (_3_{
b) Find the number of states with no primary law prohibiting hand-held cell phone use while driving. / { g
c) Find the ratio of states with primary hand-held cell phone laws to states without such laws. 1

a) The ratio of states with primary hand-held cell phone laws to the total number of states is l

{Type a whole number or a simplified fraction.) @ (8
b} The number of states with no primary law prohibiting hand-held cell phone use whiie driving is i l: (& v
Simplify your answer.

(Simpify y ) Prres 2,3, r?lluf 719, .. (s

c) The ratio of states with primary hand-held cell phone laws to states wnhout such Iaws is
(Type a whole number or a simplified fraction.) lLZ

/ Z .
Answers 6 —_—T (6

40. Write the percent as a decimal.
8%

8% =

Answer: 0.08

41, Write the percent as a decimal.

75.1%
78.1%= '

Answer: 0.751

e e ——— P p—— ey LAY — - i —
B

42, Write theﬁg[émsafractiongﬁmixed number in simplest form. /9// ~Aq 27 3 ; 3//_ Z I’/ / 3/ ( 7; P
15% /5 % 3005 (/e
e e L
/ouJ ( st&y
Answer: 3
20

11 of38—
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43. Write thew'mixed number in simplest form. ﬂ A Z J ? ? / ' / 3 /7
14% /¥ 9z, Zé/ Y :
14% = / (7/ 7(_2
JoR = l
Answer: 7
% VL4 L (T
7*2.(-5 255\ §u  m

44. \Nrite the following\fraction as a percent

1
4

1

ria % (Simplify your answer. Type a whole numbe

Answer: 25 C(

45. Find the measures of angles x, y, and z in the figure.

| X (36T /0
The measure of angle x is : {4%/6’ /% = /io —f it G
The measure of angle y is =
The measure of angle z is l ]
Answers 44 Q j — I> .

———

136 g:_%/—ﬂ g‘f‘#é/

44

46.
\J

Find the measure of £x in the figure.

V

{Note: Figure is not drawn to scale.)

The measure of Zx is :°. 67 ~f {5’ ~ X ~ / f o
[+ x = /50
Answer: 58 -. /m_ ,-f-)( ”_,PZ/L /i() ,__//t 7

B e ST

o I30I0TY, TITT AM-

120f38
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47. Find the measure of Zx in the figure. ) . 7
Xt B+ 6I=/[7° w»
— A
X ""' / é Z - / f © (Note: Figure is nat drawn to scale.)

The measure of Zx is :“}(’7 /6{ /ﬁ// /go .-—/C P
Answer: 18 6( /2? M\(’

48.  Find the measure of Zx in the figure. — W,
X+5o-t31=/§ x
' = /&°
)(’(" /2 / 70 31
The measure of Zx is . )(/‘f/ 2["/2 / = /ZO#—(Z ‘

Answer: 59 @D

—

49. Find the eenmete? oithe fofyng figure. /ﬂ T A ~f 6 ~—+( ¥ D

p< /9rLoT /¥ 7L
@ 14#| Rectangle /Y@ // }# YL
Vg - é‘!ﬁ + do

20 ft @')
Perimeter=[ | (1) —@/

(1) O
O sq.ft

Answers 68

(1) ft

13 of 38 4/30/2019, 11:17 AM
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50. Find the@n'l/;ér 02;}15 fol@"‘g figure. / - /4 /o0t P
P= 374971327 77
@; j%rallelogram/?cm Y= JS 37 +%7
A Y e R A A
47 em CD) / - /é ’y

Perimeter=[ ] M

(1) O sg.cm
) em

Answers 168

(1)em

T~ ——

_#51. -Find ;I’-le @r of the foll@wing figure, /Z A,_fﬁ . CI
@»/\“ 16 in. /: /6’7‘ /g—f Z .
2t in. Cc;/

The perimeter is [ N

(1) O in.
O sq.in.

Answers 54

(1) in.

14 of 38 4/30/2009, 11:17 AM
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52. Find the‘a;(_;gr of the figure shown to the right. @)
= A~FG-CF Dr&E @) 164 &
P+ T T TET (s ®
pe (7 +ITI7 (5 A Z
p< Ls t¥7 /5

Perimeter=[ (1)
(1) O & P =3 3 T 5

) sq.ft

Answers 48 @
(Nt

53. Find the enmeter of th regular polygoh shown to the right. E' :?;
@ ‘j Y I 51cem
=

V= AA57 C
The perimeter is [: ) p: f/’-(‘ S"/ s ]

(1) O square centimeters. /2 /0 x5 /

) centimeters.

Answers 153 Qf}?ﬂ_’; / {D

(1) centimeters. e

54. Find the Wf th regular polygon shown to the right. /L[ /27 Z"[ <:>

The perimeter is : (1) - 6 V4 2/?
1y O inches.' /9,: 6(2, ‘i/ X é

() square inches.,

< (@3’

2% in.

Answers 174

{1) inches.

M o ——

150f 38 4/30/2019, 11:17 AM
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oS // = =
55. If a playing field is 51 yards wide and 110 yards long, what is the G‘ei'i’n;er’;

=5/

Perimeter = f (1 ﬂ .
(1) O sq.yd ; '
O yd /:22.“—'_‘?_/01

. T
Answers 322 Ko p = 3 V/)\ A >
(1) yd @_n;- e

T —— m— == —_——— E— — —

S ——
56, Find the E‘rcum?e_rguce"of the circle. Give the exact C 2 \r_ r.
- J

gircumference and then an approximation. Use = 3.14.

The exact circumference of the circle is ! (hH

(Simplify your answer. Type an exact answer in terms of x.) 2 T
C =AYV

The approximate circumference of the circle is 12) C, - 2 ( 7. / \f) r\

{Type a whole number or a decimal rounded to the nearest hundredth.)

(1) O miles. (2) O miles. C = 2 (3,,/ ﬁ(‘ \)
O square miles. (O square miles. C . G ‘ 7 7 (l \ )

Answers 22n

(1) miles.
69.08

{2) miles.

16 of 38 4/30:2019, 11:17 AM
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=
57. Find the ci(cimferengp of the circle. Give the exact circumference and then an approximation. Use

3.4, ;
crA T

CmTdD
The exact circumference of the circle is ] (1) o .
e c-7(6)

{Simplify your answer. Type an exact answer in terms of x.)

The approximate circumference of the circle is | {(2) @

{Type a whole number or decimal rounded to the nearest hundredth as needed.)

(1) ) square centimeters. (2) O square centimeters. l C,

) centimeters. (O centimeters. 3: /,7/ C, 33 / /:7;)2 i )
Answers 61 y & (SR

(118).::ntimeters. ( f,? < ( { g J

(2) centimeters.

———— T {;‘.SJ— = —
58. Find th@é around the square shown to the right. A’/‘ 4 J_ﬁ
& Slr 45m
7= P
The distance around the figure is : {1} p 9/ ( 9/ J—)
MO m A
() sqm. Cf (—-
Answers 180 : -/_ $/
(1) m. ( f ()

17 of 38 4/3072019, 11:17 AM
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59. Find thé&.area.af the given geometric figure. If the figure is a circle, give an exact area and then
use 3.14 as an approximation for n to approximate the area. 4 S_

.Lg-.,f
V‘f: ‘Lé ()

r Wit
The exact area of the circle is ! ) O — =4 A 7- r

(Simplify your answer. Type an exact answer in terms of z.) -~ 7-’ ( 2. 5

7. 5)
The approximate area of the circle is (2) /4 (2 r) /
(Simplify your answer, Type a whole number or decimal rounded to the nearest thousandth as needed. )((. lc )

(1) O cuin. {2) O sqin. A 3 /g/-r . 6 Zf ﬂ
o S pH = g/u//gg) A Lﬁ/)%
?,/?(Z;f)(/,;') 7<{.i/l
(1) sqin. /4' < 30/7(6‘92 3’) | “’/l:j
wes (A= ]9.625 ) L =

Answers 6.25n

(2) sqin.

60 -F. dhl f th lid
. Findt vou/rrleotesoi .

The volume of the solid is
(Simplify your answer.)

(1) O cubicinches.
{) inches.
(O square inches,

Answers 36

{1) cubic inches.

18 of 38 4/30:2019, 11:17 AM
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61. Findthe z@ of the solid.

The volume of the solid is (1}

{Simplify your answer.)

{1) O square centimeters.
() centimeteres.
{) cubic centimeters.

Answers 1000

(1) cubic centimeters.

V£ (/ CD(/O)(/J)

= [ (/)

’(/:_ 70 03 >

https://xlitemprod.pearsoncmg.com/api/v1/print/math

i 1 em

62. Simplify. / ~) L / z
[-72]

7))z
|-72|=| ] ( /__L
Answer: 72 72 -

63. Simpiify. . /ﬂ__3 7 / -
-|-37|
N N — - (37) =
Answer:. - 37
64. Simplify.
= (-98)
R
Answer. 98
190f38

4/30/2019, 11:17 AM
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65. Subtract. T ,__( —C) <

https://xlitemprod.pearsoncmg.com/api/v1/print/math

-6-(-9)
—~G 76 =
-6-(-e)= | __T
Answer: 0 O —
_'__—-—-_-. - = TR ——
66. Perform the subtraction. / 5. — = ),) -
15=(—-15)

15-(-15)= ] T T——

Answer: 30
67. Subtract. 3 — ( ~5 )=
-3-(-5) -
-5 +Y5 =
aeee=l ] 5
Answer. 2 2
68. Perform the subtraction. y’__( 7 -
-8-17 D e e 23,
~—
- 8 - 17 = l e S :-—_ﬁ
_._._._._,_r""-f
Answer. —25
..... - = I _'_‘—'—-—-_._
69. Subtract. S‘ . { ? -
5-17
Answer: - 12
A —
70. Subtract. 2“7 (f,-—-—} ‘7 = 3;

20 0f 38

24-3.7
24-37= :} {Type an integer or a decimal.)

Answer: - 1.3

4/3012019. 11:17 AM
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71. Subtract. = — ( — _.E-) .
5 6 // "< —
() s, 6=
5 6 o Tl_ /]
i ( - -1—1] =[ | (Simplify your answer.)
—~SF#6 _
Answer: 1 -
o '
72. Subtract. L C—D -":-r;“' / . < _%:_5__ —
15 c /LT 32’

6 12 —2

s l/ 2) = L = S
-;--Ti=1:(Simplifyyouranswer,) 62:2’ ‘gf_z."j — , ( ) _

Answer; _% FZ._—’—_ FZ: = ?’( )
- Ty =
73. Add.
—I1% + (~2¢)<
-13+(-26)
The sumis ! _-( 3 - Zé o
Answer. -39 - } Q <
: Su.bt:_a_ct‘ ——— R i e - /2' =
- Z‘ S - 2‘ 3 -

-12.5-2.3 I - ~+ 2.3
_12.5-2.3=1 (Type an integer or a decimal.) \ , V‘ ?
Answer: - 14.8

75. Simplify. { — L —¢ —
9-3-5 .
6—¢ <=
9-3-5=[ |
Answer: 1 @
o = N o % e S ——
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76. Simplify.
-2-24-(-19)

—¢—2v /7
~2-24-(-19=[ | . -26 — | 7 -~
o G@ﬁ
Simplify. (Hint: Find the absolute values fist. /=25 / ~3u

~al-l-el  (PERDID  (20) — (30) =
|-200-(-30[= | 20— 30 ¢

Answer: - 10
e = f(u q) . —

77.

78. Multiply.

-8(-9)
T — 72z >

Answer: 72

79. Multiply. —5 ( g ) —_—

- 6(8) e
= o
=

Answer. — 48
s o T

80. Multiply.

Answer: 3
56

81. Multiply.
3(-5)6)

3(-5)(6)=| [ (Simpli - _
—90 =

Answer. - 50
= e
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Multiply. @ = (”5 )("7) =

82.
~1(=3)(=7) 3() =
Answer: - 21
83. Evaluate, C___ Z) (,__ -
o )(—1) =
)(—1)=
(-2 = (
Answer: 4 @
84. Evaluate, ra
valuate . / /)) -
-13°
e — (13 Y1) =
-13%=
- — (169) =
Answer: - 169 C/IGT:)
85. Find the quotient. -
-90 - 7 0 I &
5 ,-—7_ = /50
Select the correct choice below and fill in any answer boxes in your choice. _— ( 1] }
¢
C;. A :ﬂ= l €£2 /
© g B
() B. The answer is undefined. U
-90
Answer. A, —— = =10
9
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86. Find the quotient, =[O0 _ / O
i e
-120 —/1 12/1eo
mt 1/

Select the correct choice below and fill in any answer boxes in your choice. C)

—c )
-120
() A. —_"';I? = C)

() B. The answer is undefined.

-120

Answer: A. _—12 = 10 l

—— I S

87. Divide. | /Q :
. 7 "o

r)

15
Select the correct choice below and, if necessary, fill in the answer box to complete your choice, / § O
0 <
O A. . (Type a whole number.) S
-—'""-___-
() B. The answer is undefined. O

0
Answer: A, 15 =! 0 (Type a whole number.)

88. Find the following quotient.

75 7)”

=% e

Select the correct choice below and fill in any answer boxes in your choice.

75
A —=
OA o=

(C) B. The answer is undefined.

75
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89. Divide. '—}7—(% “—54) '_;:7?75‘:
_i+[_l] .
1 5 —_ 9 L2

7/_ o
- 1—51- + [ - %] =[ " |(Type aninteger or a simplified fraction.)
Answer: 25 (_ s-)(g) =
w (110
- e — —
90. Divide. / fO e j
180 - 32]17°©

= =3 (179
Select the correct choice below and fill in any answer boxes in your choice. o i /

OA —=

() B. The answer is undefined.

nswer: A, —— 30 - 6
N—
91. Find the quotient. - f(.) [ O
- 90 e - :
-9 q_ - T/7°
)
Select the correct choice below and fill in any answer boxes in your choice. — ( ?
.—/’@—-

(A -—90 = p——'cgl

S _ 5

() B. The answer is undefined.

-90

Answer: A, _—9 = 10 |
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91, Divid

=400

0.8

A —
O 0.8

(7} B. The answer is undefined,

=400

Answer; A, "6'8—=‘ - 500
o) a/ (35,2007, Y€ o L =
a1 S50 T Ey Te T
“63 7 i )
A
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. _— ‘Si‘
OA 8 1 - @3(/3

—— e —

37T _ (Simplify your answer.) L & 3 C, 2/
() B. The quotient is undefined. ’L’
L({ﬁ ,

Answer: A, - % +% = g _ (Simplify your answer.)
‘-\-‘_‘_ e = - —— o
94, Perform the indicated opgration.
oy 235000 203D =

| el O K
[ ] : {Type an integer or a Z?; fraction.) (_’ 2_ @ — 3 o } =
Answer: 9 1(._4’/ > (’ r_C’ l. 2 =

"8

e / ; | t?p%

—_——

95. Perform the subtraction.

e —l%f(z
O

Answer: - 25
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96. Perform the indicated operations. — Z — / ’7 o (_I 3 ) -

-8-17-(-13) e
-8-17-(-13)=[ | o Z':ZIZ T/ 3 N
Answer: -12 G— /Z —/:_5;‘

e (ErPD ()i N
P — 77y -

Answer: 8 @

98. Simplify.

10 /O : f/,),lg/o

-8(-5)
—8(- Q F
81(0 ) = (Type an integer or a simplified fraction.) %’ = /_.&.Z———)

Answer; 4

99. Simplify.
7=15-3

7-15-3=

Answer: - 11 @L—Q

—

100. Simplif;." “W;;v\_/)_ﬁ-q;ﬁ /,_.,(_ 7(_2) -
1+9(-2)

1e9(-2= ] / B /5 =

Answer. - 17
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101, Simplify. @:@ .Z /O /9 ):
a4 ') -

{10 10

3
%[ 10 10] (Type a simplified fraction.) ( g‘)
/o

Answer: _ % Z /Z
{2 S"

102, Simp-nf;,.m+4 @5’@ g B ﬁ' " 07 —= -

—gegras[ | ~9 4+ <

Answer. -7 @
103. Simplify. 7@’?"\ )24' G ('__ .7) ,_(_./(',) -

B(-9)-(-14) ,._(7/ ,_,;/
-— z
6(-9)=-(-14)= ] __,Tx\
Answer: —40 ( _ 9‘ () = _,_,.—)

e

104, Simplify. (7?({’@ /? ...... - /(?) ) -

-18-11(2)

-18-11@)=f ] —'/ﬂ"“z &

i

Answer. ~40 @_’/’

T o (PR . o3 o
e Qe T

6+ (-4

B+(-a=_ | r( "" L‘”KJ

S e >

106. Simplify. W(}*[B}.TS‘ ) . —

{(3-13)}+5
O — (/< 5s
Answer: -2 : )
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~3g-3 Y ) -
107. Simplify. ﬂ(” ""‘CD/}’ 5 ( 3¢ ~/§-26 =
7Y (726 =

(-38-34)+18-26
(-38-34)+18-26= (Simplify your answer. Type an integer or a fraction.}

—4 =76 =

Answer: - 30 @

w s e pASD 3= 5 g~ 7-

3-5-9-18= ](Simplify your answer. Type an integer or a fraction.) 9‘5- —_/ 07 -
—& 2 — § =

Answer; —-60
g

S Je nDAS ) .
(-6)2 - 42 C/ cY ;

" “ () — ()=
(- 4=l | (36 — /(=

[,
Answer: 20 @
[ -

110. Evaluate the expression whenz= -2, \\ q“ — 6 ’g —
9+62 . é(c VA q?"é(Z)‘—
9+6z= whenz=-2.
(Simplify your answer.) 7 - ( & -
B

Answer: =3

111. Evaluate the following expression when x= -4 andz= - 2. g— )( g -

Femoas> gy~ ¢y

bx-z= l: (Simplify your answer.)
—2O + L <

Answer. - 18 C—‘f?\\
I )

112. Evaluate the expression when x= -6 andy=1. \9 3 5_ )( —

3_5y Gk—u = -
re @ ([)3.__ f(—@) o

¥ -5x= whenx=-6andy=1. _
{Simp:fy% e (l){\)(\) L 5—(__6) =

Answer: 31 l ? O -
e

o g Sl
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113. Evaluate the following expression when x= -3 and y = 8.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

3(9) =1L

3y-12 D (—32)
X -
2 Y~
3y-12 . o . ’:_LL =
P {Type an integer or a simplified fraction.) 3
1z - )
Answer: -4 = = - 7

e e e i

—

114, Simpiify the expression by combining like terms.

2d - 3d-

2d + 3d o i
Answer: 5d
115. Simplify the expression by combining like terms. g 5{ o . iz
8x = 19x% — /‘7-2
Bx-19x= C /‘ >( " 54
Answer. = 11x
T - e —
116. Combine like terms. 6 v X"’F 7){ —
Bx+x-9x G
6x+x-9x=! 3(74 ( )( ?X =
- /=T =
nswer: - 2x (—?—Z—:’;}
A [
e — c Sy e

117. Simplify the expression by combining like terms.

4q+7q+6q-3

4q+7q+6q—-3=! l

Answer: 17q-3

rqQ T/ Q3

118. Simplify the following expression by combining like terms.

5x+6=-x-11

S5x+B-x-11= I ] (Simplify your answer.)

Answer: 4x-5

SX 76~ [X —/| =
X577 N

30 0f 38
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119. Multiply.
6(p +2)

e —

Answer: 6p+ 12

hitps://xlitemprod.pearsoncmg.com/api/vl/print/math

120. Multiply. '3_._( 2 7 —7 ) -
3(2y-2) —
——
o — 6y 6= >
Answer: 6y — 6
121. Simplify the expression. First use the distributive property to multiply and remove parentheses.
4+5w+4}+w Cf’f r(w-—r({)——r (/=
a+sw+ay+w=[ | C.f —f Sl —f Zo—-(alw =
_‘_\_‘—\—\_
5 o )
Answer: 6w+ 24 Qj —(' 2’ ((l_-:_#_ﬂ‘
o 4 T B— e
Ly
122. Find the perimeter of the figure to the right. @7 - 2u feet 20 i @
\ :
@ 7 feet 7 feet C.L)
The perimeter is (. ) (1 /’: /l’fé—-(cft" D+ & - —
(Simplify your answer) ﬂ._ 7’_,& 2q '—1‘2 A _(_Z Ao —F 7 — 3 a
(1} O — . _
O sqft. - \\3
g @ TR — /¢
Answers 9a + 14 /
(1) ft.
e
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R
123. Find théeriyetrﬁf the figure to the right.

The perimeter is ( ) (1)

{Simplify your answer.)

{1y O sqin.
) in.
) ecuin,

Answers 20x + 55

(1) in.

https://xlitemprod. pearsoncmg.com/api/v1/print/math

Lf‘.\/’f{_' ‘/)(’Eatcl(l side: A/C (f’(_’?‘}
G+
C/)(,f-ll inches )4 vz rA/
“wen Pz Y xr11)

= O £S5 S

II"‘-\—|_

124. Find the area of the rectangle to the right.

The area of the rectangle is | 3 )

{Simplify your answer.)

(1) O sqin.
) in.
O cwin.

Answers 18y

(1) sqin.

320f 38
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4/30/2019, 11:17 AM



MATH2357FIESTAPMDPREALEKS 150-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v | ‘print/math

125. Find tr@fthe rectangle to the ng&;\:{ -I 31‘5 A Z/ U
(.\-.a}lulomuh.; (? U//( 3)
The area of the rectangle is (:: {1 Av (5 7 ,( - ‘ | J

(Simplify your answer.) 1

(1) O km. (}37 !
) sqkm. X
O cukm. I\\ —

Answers 37x-111

(1) sq km.

e

126. Find the area cphe rectangle to the right. (2y+ 1) miles

S ? [
CL;) Z 1 20 mites f@')(d?+,)
bl AC szj”{‘l"

The area of the rectangle is (| ()] S

(Simplify your answer.}

(1Y O sqmi.
O mi,
) cumi,

Answers 42y + 21
(1) sq mi.

—
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[
ATr
L
A i 3: / (7/ /'
& 1
A - %‘l /Y (/(.))

/4 - g,/‘-/ //t))//d)
The area of a circular braided rugis| (1) A - ’5“ / o (/()J)

(Type an integer or decimal rounded to two decimal places as needed.)

(1) O cubic feet. 3. /V
O square feet. ﬂ.‘ﬁ}——
) feet. O J
Answers 314 () () ¢
(1) square feet. ? / OO

127. Find the area of a circular braided rug with a radius of 10 feet.
Use A=nr? and n = 3.14.

T — e - i —
——— ——

128. Find the volume. Use V=LWH.

3.1in.
4 in.
_ L~
The volume is 1(1) Vf" L_ A/ H

(Simplify your answer.)

0, Y
(1) O cubicinches. \/’: (Lf) ( {«r l ) ( (@ >() Z
O inches.. V: 2/0 L ( S_

(O sqguare inches.

Answers 102x = /0’2* x ;

(1) cubic inches.

129. Solve. Check your solution, )( = !

x+5=22

Thesosonxs[ ] X~ 5 / (e

Answer: 17 /{’__

34 0f 38 4/30/2019, 11:17 AM



MATH2357FIESTAPMDPREALEKS150-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v]/print/math

130. Solve. Check your solution. (:, o / D - }
S d—o /07 32
The solution isd=l . == ——‘-::::.;__‘:_\
Answer: 7 - 7
e _-_-_'_'_"‘"—-—._
131. Solve. Check your solution. 2 7z V) »—7
23=y-7 23 __(_7 - cj —-—}/7/
The solution is y =[ = ﬂ
( 2o =
Answer: 30
132. Solve. Check your solution. - / ﬁ - )(-——f-
e
The solution is x =/ " Q
A —22 = X
Answer; -22
—— B

133. Solve. Check your solution. -—-} »—f-{ } . }4'7 - 7

~3+13=m-9 /< g — 9
me[ ] [o—+ F < m—T+7

Answer: 19 @
~ — } : o [

134. Solve. Check the sclution.
X —0.7=3:9 3.9

x-0.8=3.9

w1 K— J-§+0-3=37+03 L

Answer: 4.7
———
135. Solve.
B8x= 24
The solution is x= !: %& —_ 2/ 2
Answer: 3
‘."-'—-—-__
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136. Solve. "_-7 'g = Z 5
-7z= 28 ——-7 & - g

The solution is z =! . ,—7 ...-—7

7

137. Solve the fallowing equation. —— —
9% Oo g Z e C) ] S
0.5z2=-20
2 . —LO
The solution is 2= : ’_'_Q_“__S-____ I —
(Simplify your answer.) a. bu 0,, £
Answer. -40 /,/27 = —% OL\
—— ———t — e ——'_"...__'_'_F.’F’!
138. Solve the following equation. -g‘ . _7 O

5z= =70

The solution is z= ’ 5’ g gl ’-;Z:Z'

(Simplify your answer.}

Answer: - 14

139. Solve.

o
'Oo
@

)

140. Solve.

3 61"’“ 3)( Zf——}f_

. /
o — ’/) (1= o

(Type an integer or a simplified fraction.)

— 7# x>

141. Solve. First combine any like terms on each 5|de of the equation.

9w - 15w = 54 C?(A/ —_— /r[‘_/ ’:j"(/
we[ ] —6 () = S—('/

R

Answer. -9 ‘—'( (’\/ _ 5’(7/
-__- 7
T—a TS . A
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142. Solve the following equation, 6( -('Z (/ —

Ex+24=0 6)(—{—%— (7/: Oy
Th'e sc?lution isx= I—__ﬁ ( - ——2 g7/ o
(Simplify your answer.) F-é_zf _ "':_Z__t__/ <{ - '_D
Answer: -4 6 &

143, Solve th tion. -y -
olve the equation gx _,( - 6)(—+ v ___’ >< - G

S5x=1=6x+5 r}( ,_(.A ()( ’S‘__(./
S — = ex A S

- SN 6 X = 666 < Cx =—6

144, Solve the following equation. 1?/ ~ %< $¥ 3 ¢ )(2 -

The solution is x = ; - --— ==

(Simplify your answer.) ﬁ )( - 5 )( —22 /( = S=

Answer: -5 9)('-—5')( T—XY’—Z«D"S’
— ERESE Y=z ee— — — .
145. Solve the equation. {__‘ 7,( — /Y,.(- 2 X ":j:( - _ﬁ

5=7x=14+2x {;7){,3£:—_ /¥ Filvr — ¢ ~7 _—-"]
] L9y 2%+ 9 =~

~ Ty X < %—1—4""

Answer: =1
—Gy=q o
146. Solve the equation. — A — & < - G0 X - / — X ____r_:_-_-__-_h
-4.5x-4= -4.0x+1 — LV — %: —Yeo X +] + ¥ —-’;_-S_: s

- |: (Simplify your answer. Type an integer or a decimal.) @ | g
— SN = ~SOX £ 5 (A= 127,

Answer; — 10 — o 8X -+ 40X = —FOXAF 'K .'?.'.5: 50,
) —oSX = S -
147. Solve the equation. -7 /“7 £ /) -
=2(y+1)=0 —27 -2 = O

y= ‘: (Simplify your answer.) .—2 7
Answer; -1 g 2 7
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*3//7,-1) ,‘27,_5 2,7 )
— - l —
4(y-2)=2y-8 J 5 7 /5/ O
S -
y=

' eI C_O)
Answer: 0 7 - 1 ‘7,-— 3 7 9

148. Solve the equation,

149. Use the distributive property to help you solve the equation. Bw - [ L
o) _ T -~ =
3w-2)=6 (-1 )= 7 3
w1 3w— G~ =Y
w—G -t ¢ - é"f -
Answer: 4 ?
el (_”L S

150. The two top-selling video games for a gaming system are Game A and Game B. The price for Game B is $17 more than
the price for Game A. If the total of these two prices is $27 ﬁnd the price of each game

GameAcosts 5 |. )( éﬁ 1 /Zl \w
GameBcosts$_ | %%—:C&‘ﬂ:{_ _/8//
6()7‘ /,Y—f/?) = 2
N+ X112 = 21

L X7 = ¢

w LT 27T

2x = /O

Answers b

22
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